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Answer the following questions:

A ALY el

Write the scientific term expressed
by the following statement:

Fragments that are formed at the
foot of the mountains due to
repetition of freezing and melting
of water within the faults and rock
joints in the mechanical
weathering.

C.Jh_m.d\ g ]
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Write the scientific term expressed
by the following statement:

Detrital deposits are considered as an
evidence for the formation of
unconformity

TR PEET
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Choose the proper answer:

In the orogeny movements , the layers
are exposed to tight folding by the
presence of :

reverse faults
strike slip faults.

low slope faults and large
lateral displacement.

high slope faults and small
lateral displacement.

tdagaall Ly 5 .4
¢ Jlaall Al ISl 3
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Write the scientific term
expressed by the following
statement:

Fine and light weight mud grains
are transported as a suspension
in water.
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What is meant by:

The pressure exerted on a plane
body is 0.5 Atmosphere?
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Explain:

The halite crystal belongs to the
cubic crystal system.

: 3\,,\33’\ 5)1.,\81\ J-ud 7
Qpomi] 55 ) 555
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Choose the proper answer:
Stalactites deposits consist of:
Hydrous calcium sulphate.

Calcium and magnesium
carbonates

Anhydrous calcium sulphate.

Calcium carbonate.

tdasaall lay) i) .8
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9.

Explain the reasons of movement
of tectonic plates.
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Show only by a labeled diagram:

Formation of river terraces.
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Write the scientific term expressed
by the following statement:

Annually desert plants appear only
after the rain fall in winter and
disappear by arrival of the summer
season.
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Choose the proper answer:

An example of nonrenewable
resources that would disappear
from the environment sooner or
later is :

(a) water.
coal.
(© soil .
(D) air.
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What is the name of the
following rock?

One of evaporating rocks whose
chemical composition is hydrous
calcium sulphate.

¢ Al o) Lo .13
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Mention only one use for:
Planktons for the terrestrial
living organisms
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Rewrite the following
statement after correcting the
underlined wards:

The direction of coastal dunes
Is that of the dominant wind.
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Mention only one use for:
Cellulose.
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What is meant by:

Photo-periodism?
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Rewrite the following statement
after correcting the underlined
wards:

Deterioration of grazing lands in the
North Coast as a result of grazing in
regions of herbs and cutting trees.

A 3 jlal) dus acf .18
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Discuss the following:

The state offers multi efforts to
combat the Nile pollution.
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Compare between:

Mechanical degradation of each
of rains and the ground water.

o oUd .20
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Choose the proper answer:

A mineral of specific weight (7.5)
belongs to mineral group

@ Silicate.

() Carbonate

(©) Sulphide.
(b) Oxides.

dagauall Ay i) 21
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Write down the scientific
concept expressed by the
following statement:

The percentage of pores and
cavities that exist within the rock.
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Choose the proper answer:

Which of the following organisms
have the ability to restore carbon,
nitrogen and phosphorous
elements to the environment
another time?

(a) protozoa and fungi
deep water fish and algae.

(o) saprophytic bacteria and
saprophytic fungi

(o) nodular bacteria and
saprophytic fungi
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Explain:

Gneiss rock contains crystals of
guartz, mica and feldspars.

s AN B lal) yud .24

s e s sing Gl Jaaa
cobadall g Saall g 3551 6SI (e




Rewrite the following statement
after correcting the underlined
wards:

Mud is used in making porcelain
and ceramic instead of the non-
renewable minerals.

A 3 jlat) s acf .25
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=m 26. What are the consequences of:

Growth of coral reefs in front of a gulf?

fs A il alill L 26
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What is the name of the following
rock?

An igneous rock that contains
Olivine, Pyroxene, and Potash-
Feldspar with porphyritic texture.

¢ hual o) L .27
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Write the scientific term
expressed by the following
statement:

Last minerals that crystallize in
the discontinuous branch of
Bowen's reaction series

cih_m.d\ <) 28
Jad i alal)
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An earthquake occurred
and its epicenter is as
shown in the opposite
diagram. Study the diagram
well, then answer the
following questions :

o S e OS5 dIN) s
JEAL miage s LaS
oo elalal 3l
ALY e

am29. What are the characteristics of the
- waves recorded at the observatory
station (A)?
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What are the measuring units used
to measure both the intensity and
magnitude of the earthquake?
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What are the consequences of:

The existence of a sedimentary
rock layer that contains fossils of
ammonites and first mammals
above sedimentary calcareous
rocks that contains trilobites?

e 45 i L .31
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Rewrite the following statement
after correcting the underlined
wards:

The movement of the surface water
(waves) is affected by the Earth
rotation.
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: bl Adal L iy gual
slall Liadail) 48 all il

Show only by a labeled diagram:

Elements of the anticlined fold.
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Choose the proper answer: rdagaiall 4laYy) 44 .34

Coal layers formed in Bedaa and san) giall andll culiya i oS
Thura sc_)uth west of Sinali e_1re Cb Cisia |y gy 4oy dikaia
formed in an age characterized by

(a) Flowering plants. 4 a3 cblall

Squamous trees and ferns. LES ol sy

(©) Green algae. od) ) 5

(o) Gymnosperms. o) padll Qllsdall

gl padll Qllahlf

Explain: s AR B lal b 35

Some rivers form delta while Gy &8 Sy (any
others do not.

=m"36. What is meant by: Gisd of Llgls 3 ualial) e 36
[ |

Specific weight of galena is 7.5? 7.5 Udall o 5




Rewrite the following
statement after correcting the
underlined wards:

Seismic surface waves spread
out through solid, liquid and
gaseous bodies.

A 3 jlal) dus acf .37

s Jad Adad La Gy guad day

AL phall 401 3150 Sls ol s
Al 5 Alall dlaaly) DS

Explain:

Auxins affect the tropism of the
plant stem

s Ay B lall yud 38
slatil b bkl s
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Mention the role of the scientists

Oliver, lsaacs and Saykes in
geology.
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What are the consequences of:

Release of rocks load above granite
rock by the action of erosion?

A3 e 48 il gt L .40

What are the consequences of:

Cultivating wheat during February
and March.

e A i gl L 41
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Compare between:

Origin of an arc of volcanic
islands and San Andrea’s rift.
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== 43. Rewrite the following statement after
- correcting the underlined wards:

Topaz _and Corundum are minerals
that could be scratched by a piece of
broken glass but not by a copper coin.

A 3 jlal) dus acf .43
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Discuss:

Although the trigonal and hexagonal
crystals are similar but some
differences are found between them.

ol B ) ol 4L a2
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=='45. Explain:  A¥ B lal) b 45

Abundance of nutrition indicates the sy e Ju cbiaal s iy
excess fish production.

Question (46 — 47) : (47 - 46) o ALY

Examine the A a0 el 3 ) andl

opposite figure and [+ o r s NG AR A5 o ol
then answer the == R 1y I
guestions:

.8"46. What does the structure (E - E) Sl alie 53 La.46
- represent? Explain your answer. cellal -3 ¢ (E-E)




How was the structure (D)
formed and what is its effect on
the layer (B) that contains
foraminifers' fossils?

(D) sl o5 s 47
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What are the consequences of:

Increasing evaporation and
decreasing rains in some seas?
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What are the consequences of:

Losing of torrents to their speed when
coming out of the bay opening.

o A il il L 49




Discuss the following: ik L GBL .50

Desert animals and herbal predators Ll omaall Gl gal) o
are adapted with the arid Lty e Luosikall 5 dsniiall

environment. Mention two
ifestati : e Oielie JS3 g ¢ ALaEl
manifestations of adaptation of each. O Gioehie S35 ¢
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